Word problems

Tommy buys three sweets at 52P each. How much does he spend all
together?
@ Sammy buys a back pack for £12 .40 with £20. How much change will

he she gete

u My dad buys both of us two burgers each. The burgers cost £2.50

How much will the four burgers cost?e

My mum buys me and my sister a teddy bear for £11.50. She pays
with £20 how much change will she get?

Me and my best friend go to the cinema. We both get a bucket of
popcorn for £6.50 each. How much does it cost all togethere




